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B.Com. (Hons.) DEGREE EXAMINATION, APRIL 2017.
I YEAR — II SEMESTER
Major Paper V— FINANCIAL ACCOUNTING  — II
Time : 3 hours	    				Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)
Answer ALL the questions.
1. What is partial repossession?
2. What is meant by Investment ledger?
3. What do you mean by Independent Branch?
4. What is Revaluation Account?
5. What is Maximum possible loss method?
6. Arul purchased machinery under the hire purchase system from Mr. Balu.  the cash price of the machinery was `15,000.  The payment for the purchase is to be made as follows: on signing the agreement `3,000, end of the first year `5,000, end of the second year `5,000, end of the third year `5,000.  Calculate the amount of interest included in each installment.
7. From the following prepare a branch account:
Goods sent to branch `15,000, branch expenses `6,000, cash received from the branch `24,000, stock on 31st December `2,300, closing petty cash `40.
8. X and Y were in partnership sharing profit in 3:2.  They admitted Z into partnership.  The new profit sharing ratio of X, Y, Z is 5:3:2.  Find out the sacrificing ratio.
9. Journalise the following transaction assuming all assets and liabilities are already transferred to realization account:
a) Unrecorded asset realizes `5,000		
b) Unrecorded liability paid `3,000
10. Mr. Ram buys 12% debentures of the nominal value `20, 000 at `96 ex-interest on 31st march 2006.  Interest is payable half-yearly on 30th June and 31st December.  Calculate the total purchase price and show its allocation to capital and revenue.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
11. Distinguish between Hire purchase and installment system.
12. Write short notes on a) minimum rent		b) Short working
13. Mr. P purchased 4 cars for `14,000 each on 1.1.92 under the hire purchase system.  The hire purchase price for all the 4 cars was `60,000 to be paid as `15,000 down payment and 3 equal installments of `15,000 each at the end of each year.  Interest is charged at 5% p.a.  The buyer depreciates the car at 10% p.a. on straight line method.  From the above particulars give journal entries.
14. The following information relates to Madurai branch.
								`					   `
Stock on 1.1.2004									11,200
Branch debtors on 1.1.2004							  6,300
Goods sent to Branch								51,000
Cash sent to Branch for:-
		Rent 						1,500
		Salaries					3,000
		Petty Cash					   500				 5,000
Sales at branch:
		Cash						25,000
		Credit 					39,000				64,000
								
Cash received from Debtors								41,200
Stock on 31.12.2004									13,600
 (
[P.T.O.]
)Prepare Branch account for the year 2004.
15. The following purchases were made by a business house having three departments:
	Dept. A – 1,000 units
	Dept. B – 2,000 units
	Dept.C  – 2,400 units
	Purchases for all departments were at a total cost of `1, 00,000.
	Stock on 1st April 2004:
	Dept. A – 120 units
	Dept. B – 80 units
	Dept. C – 152 units
	The sales were:
	Dept. A – 1020 units @ `20 each
	Dept. B – 1920 units @ `22.50 each
	Dept. C – 2496 units @ `25 each.
The rate of gross profit is the same in each case.  Prepare Departmental Trading A/c.
16. A and B are partners sharing profits in the ratio of 3: 2.  They admit C into partnership.  C pays a premium of `1, 000 for ¼ share of profit.  No goodwill account appears in the books.  They withdraw the amount of goodwill.  Journalise.
17. The following was the balance sheet of A and B on 31.12.2003.
	Liabilities
	`
	Assets
	`

	Sundry creditors
Mrs. A’s loan
B’s loan
Reserve fund
A’s capital
B’s capital
	38,000
10,000
15,000
  5,000
10,000
8,000



86,000
	Cash at bank
Stock in trade
Debtors                     20,000
Less: provision          1,000
                            ______
Fixtures & fittings
Plant & machinery
Investments
P&L a/c
	11,500
 6,000


19,000
 4,000
28,000
10,000
 7,500
86,000



The firm was dissolved on 31.12.2003 and the following was the result:
I. A took over the investment at an agreed value of `8,000 and agreed to pay off the loan to Mrs. A
II. The assets realized as follows:	stock `5,000, Debtors `18,500, fixture & fittings `4,500 and Plant & machinery `25,000
III. The expenses were `1,100
IV. The sundry creditors were paid off less 2 ½ % discount.
A and B shared profit & losses in the ratio of 3: 2.  Show the necessary ledger accounts including accounts of the partners.
18. The consett company took a lease of a mine company for a period of 30 years from 1st January, 2005 upon the terms of a royalty of 50 paise per tonne upon the output with a minimum rent of `10,000 in the first year and then increasing every year by `1,000, till it reaches `13,000 when it becomes fixed for all the coming years.  The consett company was granted the right of recouping short working of any year in the subsequent 3 years and not afterwards.  The following was the production of the first 5 years:2005 – 3,000 tonnes, 2006 – 18,000 tonnes, 2007 – 24,000 tonnes, 2008 – 30,000 tonnes and 2009 – 32,000 tonnes. Prepare the statement showing the royalty workings.
SECTION C — (2 × 15 = 30 marks)
Q.No.19 is Compulsory and answer any ONE from the rest of TWO questions.
Compulsory question
19. Knight purchased a truck for `1,60,000 from S.Waugh on 1-1-93 payment to be made `40,000 down and `46,000 at the end of first year, `44,000 at the end of the second year and `42,000 at the end of third year.  Interest was charged at 5%.  Knight depreciates the truck at 10% per annum on written down value method.
	Knight, after having paid down payment and first installment at the end of the first year, could not pay second installment.  The seller took possession of the truck, and after spending `4,000 on repairs of the asset, sold it away for `91, 500.  Give journal entries and ledger accounts in the books of both the parties.
20. X Ltd. of Madras has a branch at Trichy and in order to maintain strict control on stocks, invoices goods to branch at selling price which is cost plus 33 1/3 %.  From the following particulars make out the Branch Stock A/c, Branch Debtors A/c and other necessary accounts to show the Gross Profit and Net Profit made there.
		
	`

	Stock on 1.1.04 (invoice price)
	15,000

	Debtors on 1.1.04
	11,400

	Goods invoiced to branch (invoice price)
	67,000

	Bad debts written off 
	    250

	Discount allowed to customers
	    300

	Expenses at the branch
	  6,700

	Cash sales
	31,000

	Credit sales
	37,400

	Stock on 31.12.04 (invoice price)
	13,400

	Cash received from debtors
	40,000


21. Ajay, Vijay, Ram and Shyam are partners in a firm sharing profit and loss in the ratio of 4:1:2:3 respectively.  The following is their balance sheet as on 2016.
	Liabilities
	`
	Assets
	`

	Sundry creditors
Capital a/c
     Ajay          7,00,000
     Shyam      3,00,000
            ________

	
3,00,000


10,00,000




________
13,00,000
	Cash
Sundry debtors                      3,50,000
Less : provision for 
              doubtful debts            50,000
                                    ________
Stock
Fixed assets
Capital a/c
     Vijay                                       
     Ram                                        
	1,40,000



3,00,000
2,00,000
3,10,000

2,00,000
1,50,000
13,00,000



	On 31.3.2016 the firm dissolved and the following points are agreed upon:
i. Ajay is to take over sundry Debtors at 80% of the book value.
ii. Shyam to take over stock at 95% of the book value.
iii. Ram is to discharge sundry creditors.
iv. Fixed assets realizes `3,00,000 and the expenses of realization are `30,000
v. Vijay is found to be insolvent and `21,000 is realized from his estate.
Prepare realization A/c, cash a/c and capital a/c of partners.  The loss arising out of capital deficiency may be distributed among the partners following decision in Garner vs. Murray rule.									
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